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Question Number : 1 Question Id : 4771877643 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement regarding growth. development and

maturity of the child

arer 1 HFEE, T T aRueEar F @9y # Ao FuA FH qg=9=
fiT
Options :
Development refers to growth as well as behavipural changes

e 3f¥Eef F ary gty syTEis IiEdat F o gutar § |

1. ®

Growth refers to structural and psychological changes

3™ TEaeAs #R FAdERE afedar # wefte FE ¥

2. ¥

Biological and environmental factors influence development

g #r I+ Y Iy FrRs gofea FaT &

3. %

Maturation refers to the emergence of an organism’s genetic potential

gigeaar fREY ST i AT e ar F 3gHa F g ¢ |

4. %



Question Number : 2 Question Id : 4771877644 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the Development Theories given under List-A with their basic aspects

given under List-B
A # fov 7iv e & Rguidt #F =3B # U 9T 395 smureg
Tgo3l & e Hifav |

List-A List-B
Tf-A qH-B
(Development) (Theme)
e fawa
A) Erikson's Psycho-Social 1)  Depends on concrete and abstract
Development thinking abilities

UNFH & AA-AATSS & e 3R Ay Riaa swant «w
frir &
B) Piaget's Cognitive Development 1) Depends on experiential learning
st &1 A e HIHaTeA® HoeE W R g
C) Carl Roger's Self Development 1) Depends on universal ethical
FTel Vs FT ATcH-TTF1H principles
msiEs  dfts Reuar w
et & 1
1v) Depends on the result of child
mteraction with his apcial

environment

= F T4 GHASF SFE0T
F O §IF 9T T E

Choose the correct one
Her 3 F1 I3 FfFT
Options :
A-ii, B-iv, C-11

1. %

A, B-n C-m
2. ®



A-1v, B, C-11
3.¢

A-m, B-iv, C1
4, %

Question Number : 3 Question Id : 4771877645 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Erik Erickson’s ‘Psycho-Social Development Theory', a student of
Class-IX 1s 1n this stage of crisis
R TiEET & Aar-aTeE RE F ey & wqurn oFf wer #r o
TFEC FESH WO H &

Options :

Initiative Vs Gult

gl dATH UIrIEreT

Industry Va Inferiority

3¢ANT TATH ST

Autonomy Vs Shame

, » TEIIEAT SATH AR

Role Identity Vs Role confusion

HHFT Ig= TAH HAFT A7
4.




Question Number : 4 Question Id : 4771877646 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, identify the external factor, that influences Child

Development

rafef@a # O aa% F TF9 F 9fed Fa I 98T FE HT Ig=d
fifsT

Options :

Physical environment

1. ¢

Hormones

grAfaT

2. %

Intelligence

Leforw

3. %

Emotional maturity

HASATcAS I9Fadr



Question Number : 5 Question Id : 4771877647 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following identify those that are more helpful to teacher to provide
adequate learning experiences for every learner according to thier individuality
feafa@d & ¥ 98 % REmt #7 3udr afFdwEar F HIER g3
HTTH HTHT 30T FE # a7+ F A7+ T+ ¢ -
A) Ability grouping
AT FHET

E} Adjusting the curriculum

USTHA THATAISAA

C) Adjusting the methods of teaching

foretor =TT F1 gAEREEA

D) Proper knowledge of the individual’s potentialities

O aaTa &/ATT FT gIeg AT

Choose the correct one

Tl 397 FT T34 HIfaT

Options :

A B C.D
1. ¢

A, C. Donly

Fa A C.D
2. %

B. C. D only

9o B.C.D
3. #

A.B.Conly

Fao A B.C



Question Number : 6 Question Id : 4771877648 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Saritha, a 12 years’ age girl, appeared and completed ‘Intermediate’ with

A+ grade. This reflects that her

12 gufg oghr gNar & serAisae 7 afer o 3t A+ 35 9reg &Far |
Ig 2ar & &F 3| -

Options :
Chronological age 1s greater than Mental age

FTATHHF G AGEF 3G T AGF § |

Mental age 1s less than Chronological age

AATEF AT FTAHAF AT F F7 ¢ |

Mental age 1s greater than Chronological age

v AATES HY FoHias A § Ao+ § |

No relation between Chronological and Mental age

FATHAF AR AATGF HY # FIS TG A2l € |



Question Number : 7 Question Id : 4771877649 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of stages of creative thinking
EATcHS =aa F IO T a8 FH g0 |

Options :

Preparation. Verification. Incubation, Illumination

Ill, T, Fafaww, HAfa

1. %

Preparation. Incubation, Illumination. Verification
2.

Verification. Preparation. Incubation. Illumination
3. %

Preparation, Illumination. Incubation, Verification

4, %



Question Number : 8 Question Id : 4771877650 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT an example for primary reinforcement

fFrafaf@a & ¥ 7g A&+ Haod FT 3880 [0 ¢ -

Options :
Food

Praize

4 92MHT



Question Number : 9 Question Id : 4771877651 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As a teacher, which test do you use to assess the aptitude of your students?
T feF § §9 A 39 o #r afEg F ees ¥ T aw Fiadr
& T 3TART FE?

Options :

Thematic Apperception Test

frafes vadeoers e

1. #
Army Alpha tests
HTHT 37w T
2. ®
Raven's Coloured Progressive Matrices
T ¥ Fo § gEifag #Aftuw
3. #

Finger Dexterity tests

R 2% TR o
4. &



Question Number : 10 Question Id : 4771877652 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
With respect to nature of the Head of the school, which among the following

lead to maladjustment, criticism among teachers and students?

IISATAT F T H Thfad & Ha9 & Aeafaf@a # & ag et 3 o=
H FHAMSA 3T A=Al 3c9e= HIdT & -

Options :

Social adaptability and maturity

HHATSF Hefhole 3R aiaF=ar

1. #

Participative leadership

| e age

2.

Authoritarian leadership

gy Aqed

3.¢¥

Self-confidence and positive approach

MTeA-TFeary 3T TFIeAs Tieahor




Question Number : 11 Question Id : 4771877653 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which method i1s more applicable to guide the student., who 1s facing the
problems like agpressiveness, anxiety. shyness, temper tantrums and poor

academic performance?

TS, =, oF, [ HR @ SefUe vedd S gETanst &
HIHAT FTe aTel B F ANGNS F fov Flaar {7fr sugaa &7

Options :
Cross- sectional method

Hauey i

1. %
Case Study method
T Feuga &
2. ¢
Cumulative marks record
. o Rt
3. #

Introspection method

%mmﬁ'ﬁmwﬁ%

4.



Question Number : 12 Question Id : 4771877654 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to ‘Piaget’'s Cognitive Development Theory’'. the child exhibits this at
Pre-Operational stage
s % daeeas fFm F gy % 38R a0 99 §9ed @{0T W
SHFT 9&I FIaT ¢ -

Options :

Logical thinking

=i o

cdllshsn I=dae
1. #

Conservation

TIET0T
2. ®

Problem solving ability

HHEEAT AT ST
3. #

Egocentrism

HEFigaar

4. ¢



Question Number : 13 Question Id : 4771877655 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The changes in behaviour of an individual that occur by one of the following

factors does NOT fall in the category of learning

Trafoi@aa # & &Y oF FR% F ganr 8 cafea F c¥9gR # gl arel
gitgae rfeere $r o 7 adt g -

Options :

Changes due to practice

AT ¥ FROT @7 J19 9EaaT

1. ®

Changes due to experience

AT F FRUT @A qTel Iidaet
2. %

Changes due to training

Sfe0T F FWOT B IToT TS
3. %

Changes due to maturation

IRIF=IdT F FHOT g T Iiaded

4. ¢



Question Number : 14 Question Id : 4771877656 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B regarding multiple intellisence theory

g4 F Bquia F d9U # FE-A F §@E-B ¥ Fee HifTw |

List-A

qH-A

(Intelligence)

™

A) Spatial intelligence

T

B) Interpersonal mtelligence
C) Intrapersonal intelligence
Choosze the correct one
e T =TT ST
Options :
A-m, B-1, C-1

1. ®

A, B-n, C-m

A-1n, B C-m
3.¢

A-m, B-1, C-1

11)

111 |

List-B
ﬂ i' -B
(Association)
..
Social smart

grereT THAE

Picture smart

=y T e

Self amart

Oo% TATC



Question Number : 15 Question Id : 4771877657 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT pair among the following

Teae@a # ¥ 9ed ST T 989 Hifaw |

Options :
Differential Aptitude Test - Wechsler

fordes wfaeaar ofegor - s

1. v
Equally Appearing Interval Rating Scale - Thurstone
A fq@e arer 3iaarer e & - gwefad
2. %
Client Centred Approach - Carl Rogers
TEF Higg TEHT - FTor I
3. %

Thematic Apperception Test — Murray & Morgan

ITETIH aare eTor - FY 3R A



Question Number : 16 Question Id : 4771877658 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following theory is related to cognitive learning?
R # & Frwn Rigute woerers S & HH & -
Options :

Learning by Insight

Tefee ZanT dr@er

1. ¢

Learning by Conditioning

HeIaUs AN Hi@er

Learning by Trial and Error

T T I @R dEaT

Imprinting

oI (37 Ot



Question Number : 17 Question Id : 4771877659 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“An individual once conditioned to respond to a specific stimulus 1z made to
respond in the same way in response to other stimuli of similar nature”. The

above statement reflects this principle of classical conditioning

“UF ITFg F TF I Fdr @Fferee 3399ar F 9f9 9afFar @ § Or
Hagfod # fear Jrar §, aF 38 WA Spia F 3T 3Aean F ogfa o
U 9E 9Aar F@ F T SuR @ FJEr 7 30ed Fu9 ey
HERMTHT & 57 fHeurd Fr gafar ¢ -

Options :

Extinction

g

1. #

Spontaneous recovery

HES qAuled

2. %

Stimulus generalisation

35T TTATAHIOT

3.¢¥

Stimulus discrimination

Qﬁwﬁrﬁm

4



Question Number : 18 Question Id : 4771877660 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The teachers and learners have to keep these view points in their mind for

seeking maximum positive transfer of learning.

Trms ¥ A¥OFaTH TFNeAs FAEE0r F o e v Renfiar 5 s
g3 &1 e 7 T@ar 39T -

A) Identification of associations, similarities and dissimilarities among the

s

learning situations

e aifefaat § g9y, gaEaarst 3R smaEeasd Fr og=a

B} Developing proper ideals and imbibing them to perform things in future

AT F 10 = F v 3fg et =1 T FEr aur 5=

HAIcHHIT HiAT |

C) Building generalisations and making their use in further learning

ATHTHI0T FT HAT Far 3T 9587 309H & 39497 39906 T

Choose the correct one

T 397 FT T34 HifaT

Options :
AC {}111}'
FaeT A C
1. %
B. C only
Fad B.C
2. %
A only
Fael A
3. %
A B.C



Question Number : 19 Question Id : 4771877661 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following which one comprises of personal events and experiences

associated with one’s life

ffef@a # ¥ 9 Swd e cafFg & Sfieq @ 37 iFded gean
3R 3eTHT A &t
Options :

Rote memory

|« T Td

Semantic memory

3 A

2. ¢

Short-term memory

Heqhiiersd THA

3. %

Sensory memory

Taer THIT
4. % c



Question Number : 20 Question Id : 4771877662 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the techniques that may help the teacher to sustain motivation among

students in the classroom

FeTHeT H ©EF H 0T S4TC @d H 7= FT Ggraar i I dharhr
Fr gg=a FifET |

A) Reward and Punishment

R AT &3

B) Success and Failure

TFerar AT awean

C) Level of Aspiration
HTHTET FT FX

D) Child Centred Education
qTeTehigd fore

Choose the correct one

Tl 397 T I39 HifaT

Options :
A; B, C. D

1. ¢

B. C.D only
Fad B.C.D

A, C. D only
FIATAC.D

B.C {}lﬂy
Fa B, C



Question Number : 21 Question Id : 4771877663 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The percentage of learnt material forgotten immediately after 20 minutes as per

the Ebbinghaus experiment

TR WANT ¥ HJER AT €@ % gid 20 fAde F ag saar gfawd
T S E -

Options :

47%
2. ¢

70%

75%



Question Number : 22 Question Id : 4771877664 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Teacher taught the lesson without considering fatigue status of students to
complete the syllabus. Many of the students could not understand the lesson due
to fatigue. The Thorndike’s law of learning that is NOT followed by the teacher

here 1s

U+ Rerd o f IFE W T 7 T g MSTHA H W A F O
915 USraT § | U F FRUT F3 SIF 9IS A #7gr 910 | Tgr W e
Asss F @ F 38 F9F7 F7 sregaor agt GFar -

Options :
Law of use

39geT &1 FaR

1. %
Law of readiness
SEREGIRCIRGE ]
2.
Law of disuse
HITAT FT fATH
3. #

Law of effect

qaT &1 FaE

4, %



Question Number : 23 Question Id : 4771877665 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the statement that DOES NOT support the concept of Vygotsky's

Constructivist Theory

TSMcTHT F TIAAERT Hedid FT FTURUT F1 THIF d FLA I67 FI9
Fr gg=a FifFT -

Options :

Social interactions are basis to higher order mental processes

AHASF T+ 3==d7 ATAEF Fharsil FT 3T § |

1. ®
Cultural factors influence cognitive development
HIEHIAF FNF HAGCHF [FHhME FI FAET Fd 8 |
2. %
Learning is the product of association between stimulus and responses
Tr@aT e R gfafransd F @i g9y #1395 § |
3. ¢

Language plays a vital role in cognitive development

HAETCHS fahrd H ST Ageaqur ffar e € |




Question Number : 24 Question Id : 4771877666 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Inclusive education includes the following children in the classroom

AT 78T FaTweT § Aeaoi@a F=41 F FFATed Fdr ¢ -

A) Socially disadvantaged children
AT & § IR T=

B) Physically disabled children
ANF §T F HeTH T=o

C) Academically differentiated children

sterfores w9 @ feifeT ==

D) Mentally exceptional children

AATYS 9 ¥ TYR0T T==I

Choosze the correct one

HEr 397 FT TI9 FfST

Options :
A, B. Conly
a9 A B.C
1. #
B. C. D only
, » ®ad B.C.D
A, C. Donly
Fad A.C.D
3. %
A BCD

4. ¢



Question Number : 25 Question Id : 4771877667 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In this model of inclusive education, the specially trained teacher moves from

one school to another and assists the differently abled children

waTRl U ¥ 3§ Aled # flW §9 @ giAfET ReE tF FRa § g
T S & AR g == Fr wErmar Fa €

Options :

Itinerant teaching model

v sHUT e TareTuT Hige

Resource model

TES ATSoT

Distance learning model

T AT Alsa

Dual teaching model

SIgq fretor AT



Question Number : 26 Question Id : 4771877668 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the statement that DOES NOT reflect the concept of self-concept
HTCH-ATURUN F Tgel3i HI FlAfafad g1 A I FUF HT Tg= HIIAT
Options :
Self-concept is the image of onegelf

HTcH-3ITUROT &9 T ofF &

1. ®
Real self-concept reflects one’s actual perception of oneself
IS+ HeH ’TUROT &8 F a7 # cafeg $I areaias uRon i
o & |
2. %
Differential Aptitude Tests measure the gap between real self and ideal
self
fartes avaar aferor w7 areafaear 3t = et F i dae #+
- ATOAT & |

Ideal self-concept reflects the perception of what one should be

HIE HcH-ITUROT SH UN0T FF g2Tar § F =afFa +r $ar g=r
a1fgT



Question Number : 27 Question Id : 4771877669 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following method 1s suitable for teacher centric learning
farafof@a & & 77 gcufa s Sfga sfoesm & fOw s9gsa &
Options :

Brain storming

. ATETSH - HIA

I.

Demonstrations
2. ¢

Discussions
3. ®

Project works

qREATSaT F



Question Number : 28 Question Id : 4771877670 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Co-operative learning helps the teacher to develop these among students

TENT 3TETH OE # ST 99" Fid # s $F7 gggar s ¢ -

A)  Group processing
HHg Fiehar

B) Individual accountability

 — L
calarddld SAdidgrl

C) Face tp face interactions

HTHA-TOTHA Jra=ida

D) Positive interdependence

TFRIcHSF qIEay forsiear

Choose the correct one

Tl 397 FT T34 HIfaT

Options :

A B, Donly

Fad A.B.D
1. %

A, B, C only

Fad A.B.C
2. %

B.C. D only

Fao B.C.D
3 0%

ABCD

4. ¢



Question Number : 29 Question Id : 4771877671 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to this section of Right of Children to Free and Compulsory Education
(RTE) Act-2009, ‘No child shall be subjected to physical punishment or mental

harassment’
F=at # forees 3R ey Rrem 1 3fWFR (RTE) Act-2009 Hr 38 oRT

F 3FER - B oft =9 F aliRF &7 I AT garsar AE & S g
g |

Options :
Section-17
gHT-17

1. ¢

Section-16

) % gHr-16
Section-19
gT-19

3. %

Section-18
gT-18



Question Number : 30 Question Id : 4771877672 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher who got 1rritated by the comments of Headmaster showed her anger
on students in the classroom. This 1s an example for this defense mechanism
guraATedTTs Fr fTenivar & Reaw ve RerF 3oar qEar werrer J oo
W FATAT & | g TH TET IF T 3EE0T ¢ -

Options :

BRationalisation

e

1. =

Displacement
2. ¢

Projection

JaTquT
3. %

Compensation

grfargfd
4, =%

Language I Hindi

Section Id : 477187243
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187385

Question Shuffling Allowed : Yes



Question Id : 4771877673 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)

famafaf@a srgamer afew | 31 & 35 % Ru v w=at & & s ggaifav |

S WIEUT HS F A H FAMDF Ageaqol FETHdT 9 75 g1 ¥R
0 Y vue g #F @ Fr FA FT 9 9 T F @EF FGIET W 93547
€1 FIAFIOT & FROT JFT TR aaf & [ T@T &, ATl Igiud & @r g AT
FC @I A W &1 FeTAF Al § B gor F wemerer 60% ey aqwer sl
1 THEN ¥ T W@ & 5HF NS T FROTE - T T F AR
2Ed, I Fo H HOATT FIIA AR HEE T IRaRw q9erdr qeutadn
ATHIOT &= H AfgenaT HT T==1 FT 91T FT Tamr F F2 FaATAHRCT IS Tl
92T g, Say 39+ Ty vd e W fAwia 3R 93 IET g TA
¥ F I ol H=A, 37 fHas Sl So-wars g 1 W #R wHeE
UG ST 9aua & fehF TFeq g T &) 5o & Saa § - g a1
Fao THIOT F Torw #g1, afes 3=RT 7 3ara F T g

Sub questions

Question Number : 31 Question Id : 4771877674 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
T TIETUT 3§ TAT I Fa8 AOF Hgeaqor THAET ¢ -

Options :

Question Number : 32 Question Id : 4771877675 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T Folra®d FU @ TE € -



Options :

AfGAT F JEHoT

1. #®

ared gIaT

Question Number : 33 Question Id : 4771877676 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A F TIAHT 60% S FF ST THEAT FT FHAT FI7 95 @I ¢ -
Options :

Ao & HAF ITANET FIA HT

1. ¢

A F FHA FTAET FIA HI

2. %

N5 & HIfAd 3900 I #T

3. %

oo & faepel FA 3009 F H

4. %

Question Number : 34 Question Id : 4771877677 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
e & AR RS H TARF TR § -

Options :



o @eitelr

FH Terell

Question Number : 35 Question Id : 4771877678 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
o # ¥ Ig o7 HTETUT FT FATH THATUT Tl & -
Options :

THSTT HTITRT TaeT

1. #

i e

I8T T TIIT

ol FETYAT FT HATaGFHq0r e

4.v

Sub-Section Number : 2
Sub-Section Id : 477187386
Question Shuffling Allowed : Yes



Question Id : 4771877679 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (36 to 40)

farafaf@a weair ofewl 36 & 40 % BT v et & ¥ IO gAAC |

T A 7 FAT 9fdF FET |
g2 H Fic ar &7 &,
garee - §RaT, 8 g |
gex it - Fe1 - ardr ghefr |
Yer-gex fag g |
HeIar Fr FIgeoT H,
T HA 7 AT GAF Fa
I Ffea FH-TET W
TET T A 377G g
9 g9« §9 AT A1,
Feed AN TEE T |

Sub questions

Question Number : 36 Question Id : 4771877680 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

YA F FHMHT e F F TAET Aeal T JART 37 ¢ -
Options :

g, gfds

2. ¢ , T

giar, o7

I, ITdr

Question Number : 37 Question Id : 4771877681 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FAET F AL FHT T HI0T F gE?

Options :



9T &+ FHead W

AT F A9 g9 W

qIAEET FT 9N FT T

9y F {A JA W

Question Number : 38 Question Id : 4771877682 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AWT & 9f¥= T SJT THAT FIAT 29T -
Options :

gt

1. #

 AeTIT T
2. %

A=t FHr

3. %

aﬁm’far

4. &

Question Number : 39 Question Id : 4771877683 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
gerer # WS forT gy FaeIeur T 93T gam i -
Options :

| 8B



garge

Question Number : 40 Question Id : 4771877684 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TSN FT HET 32T ¢ -

Options :

HAlAddl T FHN
1. =

&g Fr g

2.9

aTFacT F =g

3. %

TUTETOT FT TIE0T
F=4

4, =

Sub-Section Number : 3
Sub-Section Id : 477187387
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 4771877685 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FIAA g M FT oA T F3T AT -

Options :

RER ¥ X &

1. *

39T TS F HeAlST H

39UES F FISAEH H

3.9

IAI9CT &+ FrT H
4, ®



Question Number : 42 Question Id : 4771877686 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T4t & F ‘dgel HI! W IS F AET fa97 ¢ -

Options :
qTEROT TIETT

1. ¥

o7

2. %

digen Sldlwehdl
3. %

CICR:GIEGICET]
4. %

Question Number : 43 Question Id : 4771877687 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ST e F HiEaue s F T =% el #T GEed £ -
Options :

<, R

1. #®

- FER, T

2. %

3.

Ty, #RrErg

4. &



Question Number : 44 Question Id : 4771877688 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
HTSST FET F AN AT 915 i =47 § -

Options :

Question Number : 45 Question Id : 4771877689 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ay &g feany Fr omr § -

Options :

Sy @I drell

1. ¥

CIEIGEEEE

AT Frpd

3. %

[T T

4. %



Question Number : 46 Question Id : 4771877690 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

HTFTHIST FI THAFT AET F THE Fi § -

Options :

Question Number : 47 Question Id : 4771877691 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
TITET F&T % Tl GIEd 918 # 3T #T gIedr uy o -

Options :

us

1. ¢



Question Number : 48 Question Id : 4771877692 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

= AT 3@ @ U | {Witehd e ¢ -

Options :

— :
cdlsrddl=sn d Al
1. #

ATaa=s T
2. W

MTIIT=EF AT

gcOaT Tl
4. %

Question Number : 49 Question Id : 4771877693 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
HAT H Y@ifhd FgFAER F TAHOT g AT F g ¥ -
Options :

. LAl
1. ®



Question Number : 50 Question Id : 4771877694 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
F81 UF §9 F IR AT AT @ ¥ | T F GIFT FAF ¢ -

Options :

Ha
1. ¥

T

FH

3. %

4.53%

Question Number : 51 Question Id : 4771877695 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AR AoaT ST er e @ag | T@ 9T F -

Options :



Question Number : 52 Question Id : 4771877696 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Tt oer sU FIEATEr T Y WY &3 @ AT | GO WaAr ¥ Iy g

Options :
. =ar & g=ar

1.

2. % Ej@m
gg= BT

JEWQHT

4. %

Question Number : 53 Question Id : 4771877697 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T = 7 @ oifeer o= ¢ -

Options :



Question Number : 54 Question Id : 4771877698 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

eirar faforasg geat & 390 & W A | IFT H 9gFT FA ¢ -

Options :

HigTy Aol

qOT SHI

HYOT STl

HTH=<1 dhlcl

Question Number : 55 Question Id : 4771877699 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
OIEl HI JUACHS JqT FIACHS THAT FT HETHROT FA F T TA1T
aTeT TYETOT T AT 3T FA FaAHT F AT F -

Options :

AT THE

IR P=ED



Question Number : 56 Question Id : 4771877700 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
T 3e¢r ST Fr A, FOR dT F AT AET F TIF FIAT g $H T H

FI=IROT 2T & -

Options :

Question Number : 57 Question Id : 4771877701 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

F=ET SFTHAT F .......... F T H TFT FLT @A Fgorar ¢ | =g T
F oT TFe9 § -

Options :



Question Number : 58 Question Id : 4771877702 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ITT, IeIT S AT F Jeat FT AT FE Reqor F 37 367y # wiafafam
A & -

Options :

Question Number : 59 Question Id : 4771877703 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
7T & & WE AR F 3T €T E -

Options :

areF F FaENUT T Fr B a9 F GErIar & |

1. ¢

fader # gur ¥ T 3@E FE=r |

2. %

fRraT & 3eeat FT TISE FLEAT |

3. %

are e F <gag Hadt afigdar v St F:@r |

4. =



Question Number : 60 Question Id : 4771877704 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fSRRiRTETaT F arohl H FHENIAT T FI FT 3eadel F&T | 36 97 §
TeeAr FRamst gar et Fr 7 smaemesar i qfd g g -

Options :
|y A
2. %

HAld AT
3.¢

Tt #1 T
4. =

Language II English

Section Id : 477187244
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187388
Question Shuffling Allowed : Yes



Question Id : 4771877705 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were plous to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of soclety, the savipurs of the nation, and role models

for the plebeian masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771877706 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses 1s

their
Options :

wealth and power.
1. #

Western education.
2. %

assoclation with Mahatma Gandhai.
3.

positions in the British government.



Question Number : 62 Question Id : 4771877707 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What era is mainly discussed in the passage?
Options :

Pre-independence era
1. ¢

Mughal-era

Post-independence era

Modern era

Question Number : 63 Question Id : 4771877708 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?

Options :

Pipusness
1. %

Deceitfulness

Hard work

High moral standards

Question Number : 64 Question Id : 4771877709 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What does the expression "leaders of the yore' refer to in the passage?

Options :

Leaders from foreign countries

1. %

Leaders during the pre-independence era
2. ¢

Leaders who collaborated with the British
3. %

Leaders of India's post-independence era
4. %

Question Number : 65 Question Id : 4771877710 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. ®

Only their personal freedom

Their future generations

Their lives, property and sanity
4.

Sub-Section Number : 2
Sub-Section Id : 477187389
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771877711 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.
A) He apologized sincerely for being rude.

B) Later, he felt guilty about his behavipur.

C) During the meeting., Mr George spoke harshly to his colleagues.
D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

E.C.B,A.D
1. ®
C.,E,B.A D
2. ¥
B.C.E, A D
3. %
C.EED A B



Question Number : 67 Question Id : 4771877712 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A 1s correct.

1. ¢

Only the Sentence B iz correct.

Both the Sentences A and B are correct.
3. #

Both the Sentences A and B are not correct.
4, ®

Question Number : 68 Question Id : 4771877713 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Despite being ~ outsider, she was electedas chairperson of the
committee.”
Identify the suitable option to complete the sentence.

Options :

an, a
1. ®

the, the

a, the

an, the
4. &



Question Number : 69 Question Id : 4771877714 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child in the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. %

frightend
2. ®

frighteaned
3. %

frightened

Question Number : 70 Question Id : 4771877715 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle™.

Options :



Question Number : 71 Question Id : 4771877716 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

Vha ev expected was to begin at s1x the performance.
What they expected to begin at six the perf
1. ®

) @ What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4. %

Question Number : 72 Question Id : 4771877717 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven’t turned up vet.

Choose the correct option to complete the sentence.

Options :

get over
1. #

sent off
2. W

finds out
3.

glve In

4. %



Question Number : 73 Question Id : 4771877718 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Options :



Question Number : 74 Question Id : 4771877719 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn't you inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1. v

He asked her why didn’t she inform him about the change in schedule.

2. %
. He asked her why she did not inform him about the change in schedule?
3.
He asked her why has she not informed him about the changed
schedule.
4. %

Question Number : 75 Question Id : 4771877720 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never acts so rudely, ?

Choose the correct option to complete the sentence.
Options :

% don't he

does he
2.

doezan’t he

did he
4.%



Question Number : 76 Question Id : 4771877721 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon'.

Options :

phenomenas
1. %

phenomena
2. ¢

phenomenon
3. %

phenomenae
4.%

Question Number : 77 Question Id : 4771877722 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT sentence.

Options :

When she entered the room, everyone was talking loudly.
1. ®

While he was watching TV, the phone rang.

After she finished the exam. she goes to the canteen.

By the time we arrived, the guests had already left.



Question Number : 78 Question Id : 4771877723 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She vizits her hometown once 1 a blue moon.

Choose the meaning of the expression "once in a blue moon'.

Options :

very rarely
1. ¢

day by day

2. %

day after day
3. %

regularly
4.%

Question Number : 79 Question Id : 4771877724 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
volce?

Options :

The men have been exhausted with the hard work.

1. #

The men are exhausted with the hard work.
2. %

The men had been exhausted with the hard work.
3. ®

The men were exhausted with the hard work.
4. &



Question Number : 80 Question Id : 4771877725 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite serious.

1. v
I have been quit serious.
2. ®
I was quite serious.
3. %
I had been quite serious.
4, %

Question Number : 81 Question Id : 4771877726 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
There was a lot of conflict between him and her.
Identify the antonym for the word "conflict".
Options :

dispute
1. %

quarrel
2. %

friction
3. ®

agreement
4. ¢



Question Number : 82 Question Id : 4771877727 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. ®

on
2. %

by
3. ¢

off
4. ®

Question Number : 83 Question Id : 4771877728 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At this juncture, it is impossible to say whether she will make a full recovery
or not.
Here the word “impossible” is a/an
Options :
verb

1. ®

adjective
2. ¢

noun

adverb



Question Number : 84 Question Id : 4771877729 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was ineredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

[ % who

whose
2. %

whom

which
4. &

Question Number : 85 Question Id : 4771877730 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSRW gkills in
Communicative Language Teaching (CLT)?
Options :

Practicing grammar rules in 1solation
1. %

Developing language skills independently

v Using real-life contexts to enhance language skills
3. %

Relying only on writing assignments
4, %



Question Number : 86 Question Id : 4771877731 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 1s broader than an approach.

1.
An approach 1s a set of classroom activities.
2. ®
A method 1s the theoretical basis. while an approach is 1ts application.
3. %
An approach 1s a theoretical viewpoint; a method is a practical plan for
implementation.
4.9

Question Number : 87 Question Id : 4771877732 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which activity helps best in reinforeing vocabulary in young learners?

Options :

Dictation
1. %

Grammar drills

3 @ Word games and picture assoclations

Writing reports on vocabulary
4. %



Question Number : 88 Question Id : 4771877733 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: Yes Display

“During a courtroom trial, a juror listens to the defence attorney’s argument

to judge its logic and truth.” This type of listening 1s known as
Options :

Selective Listening

1. #

Discriminative Listening
2. %

Critical Listening
3. ¢

Appreciative Listening
4.%

Question Number : 89 Question Id : 4771877734 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT ) 1s
Options :
to pass or fail the students based on their performance.

1. ®

to identify the learning difficulties of the students and 1improve

teaching.
2. ¢

to rank students among other competitors.
3. %

to complete the syllabus and prepare the students for the next class.

: Yes Display



Question Number : 90 Question Id : 4771877735 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A psycholinguistic barrier in learning English refers to the

Options :
lack of playground.

1. %

poor classroom seating.
2. %

fear of making mistakes.
3. ¢

famiharity with foreign culture.

4. =

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Social Studies

477187245
4

Online
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60

60

60

0

1
477187390
Yes



Question Number : 91 Question Id : 4771877736 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Siwalik Mountain ranges run parallel to the Lesser Himalayas for a

distance of about 2400 kms from

Rrarfore 99a s@at Tgf & FrseT 2400 ey F gff aF a9
feAToT F FAECY =ordr §

Options :
Hindu Kush Mountain Ranges to Brahmaputra Valley

fegger waa A0t & FgaqT Oy OF

Potwar Plateau to Hindu Kush Mountain Ranges

9iqaR R ¥ fEgpyr w@a Aftat &%

Potwar Plateau to Brahmaputra Valley

HIdaR ISR ¥ FEAIT U

Rivers Ghaggar to Teesta

°TERT Ar & JfiEaT d%



Question Number : 92 Question Id : 4771877737 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The words latitude and longitude are derived from the Greek words ‘Latitudo’

and ‘Longitudo’ respectively, which means
&I (Latitudo) X EAMAT (Longitudo) 2at Fr 3cald FaAA: Mk or<ar
Afeeger 3R wlfiegsr ¥ g ¢ ormar 3 &

Options :

length and width

-, W R e

revolving and rotating

qTERATT 3T AT

height and depth

S 3 METE

width and length

|, ST 3 o



Question Number : 93 Question Id : 4771877738 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the Statement that best describes the ‘Inversion of temperature’

' Fua 7 vgaa fifFv F amae 9fTeamT Fr 397 carenr Far g

Options :

An increase 1n temperature with height

I ¥ TY-ATY AIAT F I BT

1. v
A decrease in pressure with altitude
S F U 299 FH & AGr & |
2. ®
A constant temperature at all heights
gft Farsat W TR amAEa gar g |
3. #

A decrease in temperature with height

F=ME & I J9HAT Uear g |




Question Number : 94 Question Id : 4771877739 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This Meteorologist and Geophysicist had hypothesised that the super continent

of Pangaea broke up to form Laurasia and Gondwana Land

3H AleA TaET 3R geifaslee & aRFever #r O &5 ofoar &1 R
HETGATT TTHT AT AR aivEarar ofs a=

Options :
Alfred Wegner
| o FOHT AW

Marecia MceNutt

Qﬂﬁmm

2.
Harold Zaffrevs

glles AW

Zhang Heng
ST &



Question Number : 95 Question Id : 4771877740 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Submarine Canyons are observed in this region of the Ocean Floor
THg O & SH &9 H Yeiged! @riedr g@r A

Options :

Continental Shelf

- HERcaMT 9eh

Continental Slope

|, e g

Abyasal Plain
3AE HS A

3. %

Oceanic Deep

HHAT TES

4. %



Question Number : 96 Question Id : 4771877741 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This Voleano 1s known as “the light house of the Mediterranean Sea’
TE ST HFCTARR HT THR T F AH G FAT AT E
Options :
Mt. Pelee in West Indies
JET BT FT HABS Tolr

1. ®
Fujivama in Japan
AT FT GAITAT
2. % &
Stromboli in Sicily
fafdel & wgrarer
3.¢¥

Cotopaxi in Equador

SFAISI H FICdFar



Question Number : 97 Question Id : 4771877742 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this part of India. Red Soils develop on crystalline and igneous rocks in the

areas of low rainfall

NI % ST AN &, FH I97 Jrer &9 F Frredw 3 3eay ggemr W
o e ReEEg adr §

Options :
Eastern and southern parts of the Deccan plateau

gFhel SN  TaT T Sfaol mer
1LV

Western and Southern parts of the Deccan Plateau

gFhed TSI F 9iegHAT v faof amer

2. #

Andaman and Nicobar island Region

Fe5A R ToeR T #

3. %

North western part of Indo Gangetic plain

SS9 AT & 3T qieeraT v

4. %



Question Number : 98 Question Id : 4771877743 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the Directorate of Economics and Statistics, Ministry of Agriculture,
2017, the percentage of land under Net Sown Area is
FAATET vE Wit fagemera, F A 2017 F 3ER, f@=w v v
8T F AT qfF T wfaed g

Options :

18.11%



Question Number : 99 Question Id : 4771877744 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. the project constructed across the river Mahanadi 1s

foafof@a & ¥ 78 JFedr 78 | AfFg sRaear ¢

Options :

Sardar Sarovar Project

AIEH JUET IRI=aT

1. #
Rana Pratap Sagar Dam
JUTTIATT HETT &TeT

2. %
Hirakud Project

3. ¢ =

Pravara Project

997 IIA=AT



Question Number : 100 Question Id : 4771877745 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Second largest producer of Paddy in the world 1s

faeT A ure &1 @A F7 TET T 3EF €

Options :
China

1. % En?-r
Palkistan

EIETF=SIC]

Bangladesh
 w  FEOSY

India
4,



Question Number : 101 Question Id : 4771877746 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One among the following 1s NOT the form of Cloud
feifeif@a # ¥ I¢ a1 T 99K a8l &
Options :
Cirrus

| »

Nimbus

)« THaE

Sleet

e

3.¢

Stratus

=

4. %



Question Number : 102 Question Id : 4771877747 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
These forests are grown in the higher latitudes between 50°and 70° of the

northern Hemisphere

AT MO F 50° AN 70 F AT = AWM T T ST 3T 9 &

Options :

Mediterranean Vegetation

HATEENIT AT

1. %
Conifergus forests
AU T
2.4 7
Temperate Deciduous Forests
ofrarsoT guiardT 3=
3. %

Tropical Evergreen Forests

FSUTR eIy HeEg 3



Question Number : 103 Question Id : 4771877748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the Cold Current from among the following
fefaf@a # @ ofiT arr i 9g==a Fifsw
Options :

West Australian Current

afeasT Hieeforars am

1. ¢

Kuroshivo Current

R o

2. %
East Australian Current

ot sitefE amr

South Equatorial Current

i smeatd amr



Question Number : 104 Question Id : 4771877749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The annual insolation received by the earth on 3™ January is slightly more

than the amount received on 4t® July, because

9 % 2RI 3 FASL F UIST @ el AT 4 JAE HT 9T g arel
AT & AisT @ fUe o1 FifE

Options :

The earth 1s nearest to the Sun

gzl g7 & Haw FAT § |

1. ¢
The earth 1s farthest from the Sun

- A FFAFTTELE |

The earth 1z neither nearest nor farthest from the Sun

T g F FaU Aes M A g IR g A gaw gy o AE €

3. %

The length of the day is more

§ feet &1 das 3= ¢ |

4,



Question Number : 105 Question Id : 4771877750 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Ravi's weight is 80 Kgs and his height is 1.79 mts. Then, the BMI of Raviis
T &1 a7 80 Tram. & 3N 3 +¢ 1.79 A1 § o T &1 BMI ¥ -

Options :

44.69
1. ®
24.96
2.¥
12.48
3. %
6.24



Question Number : 106 Question Id : 4771877751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement regarding the distribution of workers among the
different sectors of the economy as per the data given in 2017-18

2017-18 # fT 71T 3iFst F FguR Fdcgaear % Rfd== a=t # sfF@=
¥ AR ¥ FaftaT TE Fud i T HEw |

Options :
The workers in the Industrial and Service Sectors are more than the

Agricultural Sector

3SANT AT |47 &S H FY &7 ¥ 30F 4F7F €

1. ®
The workers in Agricultural Sector are more than the Industrial and
Service Sector
FW 8T H, 37T AT Fa1 &7 ¥ HUF H47F ¢ |
2.¢
The distribution of workers in three sectors 1= same
T &3 F A7 T Fawr gAa
3. ®

The workers in service sector are less than the Industrial Sector

HaT 87T H 3T 8T W FH HAAS ¢ |



Question Number : 107 Question Id : 4771877752 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the rural areas in India, the main demand for credit 1s for
AT & AHOT SN A KO FH AT AT FTTH ... F T E
Options :

Purchase of agricultural land

SR @lhea

1. %

Construction of houses
2. ®

Crop production

bhdel ScHlgel
3.¢

Undertaking business activities

SUTEEIAS Afararadr i



Question Number : 108 Question Id : 4771877753 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In India, Aadhar Enabled Payment System ( AEPS) is offered by

¥Rd H HTUR HeTH 3FTdT Ul (AEPS) fh®eh ganr werid & A1 &7

Options :

Ministry of Finance

ECICEICE
1. ®
Rezerve Bank of India
A = 9%
2. %
National Payments Corporation of India
y AT TS 3ea A
3. -

Comptroller & Auditor General of India

ARE F FuEs va Ao 9ieTE

4, %



Question Number : 109 Question Id : 4771877754 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The emplovees working in the State and the Central Government offices get an

additional payment called ‘Dearness Allowance’ or D.A. to

T 3R FET R F FEAEAT § FF Fo 960 FAANT 76 U
‘HEIS HAT AT DA FAHF HANFT AT 9°d FId 8

Options :

Increase their income =o as to meet the increasing inflation

3! AT H JEf g a1fs § Jedr AgenE § fAue & |

1. ¢
Keep additional income in the hands of employees
FAAET & gAT # AfaRad 7T @ ¥ fow
2. %
Increase the purchasing capacity of employees
FAAET F TS T a7 aT T
3. %

Make the emplovees rich

FHIANLAT T FHT T4



Question Number : 110 Question Id : 4771877755 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The range of Human Development Index Value is

A farE gais Heg 1 €147 §

Options :
1 to 100
[ x 1 ¥ 100
Otol
) 0® 1
—0.1t0 0.1
— 0.1 ¥ 0.1
3. %
1 to 1000
1 ¥ 1000



Question Number : 111 Question Id : 4771877756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Year 2000 is the base year. In 2001, the average prices of all goods have been
increased by 10%, whereas in 2002 they have been increased by 15%. Then,
the Price Index 1n 2002 1s
I¥ 2000 TH HUR I¥ g | 2001 H ®Ar IEqa & @ =7 H 104
TSR & FAGTF 2002 H 3AF 15% TR 5 | a9 2002 F AT FIHH
€

Options :

A

125.7

L

i
i
A
]
r_;,

—_
[
LN
rJ-l



Question Number : 112 Question Id : 4771877757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
These are used to calculate the Dearness Allowance to be paid for Government
Employees to revise legal wage rates
Jufas #gl & 1 Hoiftg & % fav & FA=REr # s
T s arer FEE w9 HF Avrr F AU S 39T fRar S g

Options :
Wholesale Price Index

A+ Hod TS
L9 ™y

1. %
Consumer Price Indices
3YAIFAT Aod HIFiH
2. ¢
Retail Price Index
Gl {ed A+ih
3. #

Producers Price Index

, « 3CHCH AT TAF



Question Number : 113 Question Id : 4771877758 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Removing barriers or restrictions set by Government is known as

TIHR @ fFufia ammst i 9foaal F ge&r ... FEAAT § |

Options :
Economic liberalisation

A+ FEHIoT

1.¢¥

(Globalization
2. %

Privatisation

IGEIETI

3. %

Natignalisation

TSRO

4, %



Question Number : 114 Question Id : 4771877759 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During inflationary situation, the Reserve Bank of India reduces the money in

circulation in the economy to

zu¥ v ggehfa & fufe & ovg ard g 4% sdegaenr &
yaferd HqaT F FF FT & &

Options :

Increase the purchasing capacity of the people

e Fr @iea Fr &H7ar TT

Make the money available only to the poor people

FIeT T AFIAT FT &7 U 3TeIeT FIEA

Reduce the purchasing capacity of the people

AR FT FT gF7IT FH FI4

Discourage savings in the bank so as to keep more money in the hands of
the poor people

dF H J99 FT gdicHIed FIAT difk T AR FT grar # 310+ o=
< T |



Question Number : 115 Question Id : 4771877760 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
112 Act /scheme mandates that it 13 the responsibility of the Government to
This Act/scl dates that it 1s tl P bility of the C tt
provide manual work on demand and the wages to the workers and the capital

needed are to be paid by the Government
g fafaga/deer amey & € S Wa 989 W AT F 39y

FLEET THR FT FaEdcd § AT HEaF 9 AT A7F F Iaq9
I FIFR garT fhar =i

Options :
National Food Security Act, 2013

TS Wed FI&T AafATd, 2013

1. #
Pradhanamanthri Anna Yojana
JUTAAAT 3= AT

2. %
MGNREGA

3.¢

The Factories Act

4w PR AefETe



Question Number : 116 Question Id : 4771877761 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gautham Buddha suggested the Ashtanga marga (Eight-fold path) for
Mo U o gu+ forw arseer a@nr (3rseifdis AR g
Options :

Making the people aware of the four noble truths

AT FF I T FAT F Tid A9FF FI1

1. ®
Making the people to know the original teachings of Buddha
STt S qgur 1 Her FAawst Hr F=HR ST
2. %
Elimination of human misery
AT W F I A
3. ¢

Attainment of salvation

Arer &r wifeq



Question Number : 117 Question Id : 4771877762 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following books was NOT authored by Acharva Nagarjuna
frafaf@a # ¥ 98 o+ 3= armea % @ R a8t §

Options :

Sunyavada

A4l
1. ® =
Suhrullekkha
geoord
2. %
Madyamikakarika
HETHTHIR
3. %

Deepavamsha

argqaer

4. &



Question Number : 118 Question Id : 4771877763 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The construction of these two temples in Rajasthan is considered as the most

notable contributions of the Jains to the domain of architecture

TSEAA # 34 & #Afedl 1 AT aregeenr & &9 & A 7 Seo@ld
ARSI AT ST §
Options :

Dilwara Temple and Mount Abu

fereram #feT 31T AT I

1.
Khajuraho and Dilwara Temple
} @ AR feeanr #fw
2.
Mount Abu and Laklkundi Temple
- ATSE 319 3 oFH3T Al

Dilwara Temple and Seth Hathisinghi Temple



Question Number : 119 Question Id : 4771877764 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The primary objective of the Marshall Plan was

AT TAAT FT HAET 358%T AT -

Options :
To spread communism in Europe

U9 H HFEGEE FT &OFAR FTT

1. #

To rebuild war-torn European economies

: MCQ Option Shuffling : Yes

JeIIEd U HASTIEAHT FT [ATAAIT FHIAT

2. ¢
To create a military alliance in Europe

T & =T Teau T

To colonize Eastern Europe

7 T Fr Fufeder F =T



Question Number : 120 Question Id : 4771877765 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Among the following, the Harappan Civilisation Sites located in India were
frafof@a # ¥ 9Rg & &9 §3v7 §eIar T« 2

Options :

Kalibangan, Chanudharo and Lothal

FIeEdTe, T AR e

Mohen Ja Daro, Shortugai and Sutkagendor

Kalibangan, Ropar and Harappa

s  PIREIE, TS, FET

Kalibangan, Ropar and Lothal

4. ¢



Question Number : 121 Question Id : 4771877766 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the Chola Insecription, ‘Pallichchhandam’ refers to

e RAEeE F AR GfcadoeH SHHN Halid HdT &

Options :
Land donated to Jain Institutions

ST gEamEt F g & wE qfH

1. v
Land gifted to Brahmins
JEATT FT 3R H & 7% 09H
2. %
Land for the maintenance of a school
facarem % T@@E ¥ v g &1 715 qfH
3. %

Land gifted to temples

AR g # & 7 ofF



Question Number : 122 Question Id : 4771877767 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The archaeologists are of the opinion that the city of Vijayanagara had four
separate divisions. Among the four divisions, the first division was
Widraaar3it & @R # FSaR 0@ & 9] 9uF faemr & | = T
HO 9uF @66 AT

Options :

situated on rocky hills which was devoted to temples,

gafelr ggrsar X fTug ur At At Fr gAla ar |

1. v
situated on the valley where crops were raised using water from
irrigation channels
urdr W Pua o et =S Sl ¥ 9 #1393 FIF G 39S
L e B

a roval centre in which royal palaces and residences of important nayaks

were lpeated

TF T Fg o 5@H aEl Age I 9H@ AFH F FEw we
fora o |

Residences of ordinary people

ITIROT AR % 9| 7aa o |



Question Number : 123 Question Id : 4771877768 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Mehrauli Iron Pillar’ Inseription refers to the achievements of

‘At wilg w9 RremerE s Iuaterat ¥ wEfeg §

Options :
Samudragupta
="
1.

Gautamiputra Satakarni

2. % :

Chandragupta II
Tgared 11
3.9
Ashoka
ERliED

4. %



Question Number : 124 Question Id : 4771877769 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In France, these philosophers wanted to create a society based on freedom and

equal laws and opportunities for all

e H, ¥ greifas FaTar R wf % v gAe FeA 36 e w
ey gaTsr 1 AAr FEr aEy ¥
Options :

John Locke, Jean Jacques Rousseau

AT &, ST S5 w4

1. ¢

Montesquieu and Aristotle

- ACEFY AR 3TE]

John Locke and Karl Marx

ST & 3T Fer A=Y

3. %

Noam Chomsky and Karl Marx

AT FFEEhr 31T Fer A



Question Number : 125 Question Id : 4771877770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the main demand of women during French Revolution was that
W # Fifd F TAT Aot F 7T A6 A F oF Ao

Options :

the women should get the same political Rights as men

ATEET3N FI T F TA TTAas JOFR 97 & |

1. ¢

all the women should be included in the list of Active Citizens

Tt wfgenst F @frw aeier Fr g= & sFafea G s

2. %

Napolean Bonaparte should be made the King of France

. T SATITE T W T AT FATIAT AT |

3.

The power should be 1n the hands of third estate

Tar drg TESE & grAat 7 v |

4. %



Question Number : 126 Question Id : 4771877771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per this, no European power would be allowed to build colonies in the
American Continents and the United States will not interfere in the affairs of
Europe or colonies in other continents
SH+ AR, T off qUdEer afFT F1 AR AgIGET # IS I
#r agAfa A8 & FwEf WX HgET TSH, WY AT FeT HEEEM &
3ufagel & ATHAT § gEa89 J27 FLET |

Options :

Truman Dgctrine

e faqua

1. #
Munroe Doctrine
AU i
2.
Marshall Plan
i} AT A==
3.

Treaty of Paris

afvw #r |@f



Question Number : 127 Question Id : 4771877772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Libya is located in this part of Africa Continent
forferam, anfreT @gedT F 33 oo & T ¢ -

Options :
North-Western

3FT-ITTHT
1. #
Northern

a0

2.9

South-Eastern

% mxﬁﬁ

3.

Central

T

4. %



Question Number : 128 Question Id : 4771877773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
One of the following is the provision of Right of Children in Free and

Compulsory Education (RTE) Act, 2009
frees 3 sfaed e (RTE) sfafaws, 2009 & a=at § sfOwR F
gaud H fArAoidd § § I8 &
Options :
The Curriculum and Evaluation procedures must be in conformity with

the values enshrined i1n the constitution
USIHA AR Hediwa Sfhae @feue A @fgag Ageat F e gl
AT |

1. ¢
Every Child should be admaitted into the school at the age of three
JedF ATTF HI Al I¥ H A F TRl H g4 G7 F=w =1f@w |

2. %
Children can continue in the school even after 14 years of age for the
completion of Secondary Education
T=I ATARS fET OF FF F T 14 I f g F qemma oA
STl H T218 SN 1@ 5d & |

3. %

Child’s name should be removed if the child fails in the class

gfe I==7 F&T #F $el g1 AT Jf 3T ATH geT &Ir = Igv |




Question Number : 129 Question Id : 4771877774 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
With this act. the minimum age of marriage for girls was raised to 14 years
su Hfafagw F ganT asfrar Fr ondr Fr =gAaH Mg TeF 14 T§ H
T
Options :
The POCSO Act,2012

POCSO wfafmas, 2012

1. #
Sharada Act of 1929
omier FfafETH, 1929
2. ¢
Child Marriages Act, 2006
arar TaE FAfaETHE, 2006
3. %

Criminal Legal Amendment Act. 2013

§ HITOF Flefe Fatea Afafaa#, 2013

4.



Question Number : 130 Question Id : 4771877775 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1953, the States Reorganization Commission was appointed under the
chairmanship of Fazal Al to address the issue of formation of states on the
basis of

1953 H SHSF YR W TSAT F 737 +F HAHAT W =7 =19 ¥ @w
Ttel 3l I 3NTTAT & T [aa 3manr i g $r 78

Options :
Caste
1. ®
Religion
) as
Language
HATST
3. ¢
Culture

I 1=
4, %



Question Number : 131 Question Id : 4771877776 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main objective of Operation Blue Star was
AU =] TR FT {ET 3557 o
Options :
To conduct election in the newly formed states

A4 ST Tl H TAE FT HAS FIETAT |

1. ®
To clear the Golden Temple complex 1n Amritsar from Sikh militants
g sawarfeal ¥ HATE & T AT FicorFw Well FEmT
2.
To fight the Pakistan militants in Jammu & Kashmir
FFA-FEHR H qIihedrar IETfear § g 3 |
3. %

Liberation of Bangladesh from Pakistan

TIieREaT & Sareneer Fr gEg



Question Number : 132 Question Id : 4771877777 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The major highlight of the National Emergency period in India was

AR H T HOIGHIe T HET farwar o

Options :

4274 Amendment of the Indian Constitution

AT iU F71 42 3T gy

1. ¢
Entry of Rajiv Gandhi into Indian Politics

AT TAATT F AT ey F1 ger

Enactment of Official Religious Act

Wi o sfafaas w1 ynETaa

Formation of New states on the basis of linguistic principle

HT9TE fREUiEr F YR 9T AT AT FH TSA



Question Number : 133 Question Id : 4771877778 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

As per the provisions of Article 356 of the Indian Constitution, the President may
dismiss the State Government and order the Governor to take over the
administration of the State with the advice of

AT AU F Fg=oE 356 F AU + HJAN, Tegafd SHHI Hollg W

=T TIFR HT Fh, TG H T F TAHA FT JAT A T AT &
Thdl &

Options :

Chief Justice of India

ART & HTT AT

1. #
Home Minister
The Prime Minister
TTATHAT
3.¢

Chief Justice of High Court of that particular state

37 99 ST & I=9 AT F AT grrerer

4. %



Question Number : 134 Question Id : 4771877779 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The two major ideological and political camps emerged in the post second world
war period were

giadr 39T I ¥ ag T ¥ F 3 a o qCT =R AN TeEfas
79 -

Options :
The Communist bloc and Non-aligned bloc

FIEET ol AT [EATTeT solh

1. ®
The Democratic — Capitalist bloc and Non-aligned bloc
AR dITaF - AT salish 3T Jefae sofs
2. %
The Communist bloc and the Democratic — Capitalist bloc
3.¢

Fascist bloe and The Democratic bloe

FIHIERT sl HIT AidiaF ol




Question Number : 135 Question Id : 4771877780 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A war fought behind closed doors through propaganda and words. without real

physical combat as in traditional warfare. This 1s known as

I Al 98 gE % NE AR 3R @l & ArgH ¥, 9IRS Jeu F Aala
arEdfass INE gFaaT F faar o3t T, FHgorar §

Options :

Civil war

¢ YA

1. #
Cold war
frT o
2.
Guerilla war
E!]i?oﬂ[ qcH
3. %

Nuclear war

RELLL . G



Question Number : 136 Question Id : 4771877781 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘CIA’ 1s the
‘CIA' §

Options :

The spy agency of United States of America

FgFd T FART Fr giear o=t

1. ¢

The militant group of Russia

T FT 3R THE

2. %

A radical student group fought for their rights

HI HUFRT F T a2 Ier UF Feewdr 89 THE

3. %

The space agency of United States of America

BT T=d HANHT HT e Terar

4. %



Question Number : 137 Question Id : 4771877782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of the Bandung Conference was to
T FFEHOA HT JTATHF 36827 AT
Options :
Establish a new military alliance

U& AU =g TSaud HT TA9aT

1. ®
Promote Western democracy
gTe=AT dAlhd T FI Fe1ET ST
2. %
Promote Afro-Asian economic and cultural cooperation
RIAI-TRRaTS srdieraTar AR WiEHaF WEAE F agEr &
3. ¢

Expand colonial territories

dgfaafeos a3t &1 fmar =

4. %



Question Number : 138 Question Id : 4771877783 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is termed as ‘Excess Rainfall'?
forafof@a # @ 30 Hcafo+ b Fad €

Options :

+20 percent or more of the average rainfall

+20 gfaera ar 3itga o T A=

1.

+10 percent or more of the average rainfall

+10 gfaera ar 3t 9T O 3O

+19 percent to -19 percent of the average rainfall

+19 gfaerg ¥ atga Iur F1-19 g

-20 percent to -39 percent of the average rainfall

—20 gfaera ¥ 3\a Iu7 F1-59 giaed



Question Number : 139 Question Id : 4771877784 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following does NOT come under cognitive domain.

fe & ¥ I% §ACHF 89 F 3iq9g Agf A ¥

Options :
Remembering
FHIOT FIAT

1. #

Drawing

2.

Understanding
gare

3. ®

Evaluating

Hedhal FTaAT
4, %



Question Number : 140 Question Id : 4771877785 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to aims & objectives.
&g AT 3ec2dl ¥ Hadd Ied U FI Tg9 HITAT
Options :

Objectives emerge from Aims.

3889TT FT 39T & H gar g |

1. ®

The scope of objectives is limited than that of aims.

§ & T HIGT 3Tt T AT WAT Far § |

2.

Aims are specific and achievable in short time.

deT g e f N T F A FFe T EFa & |

3.¢¥

Aims are the guiding principles in education policies.

sege e Afaat ¥ Aveds Reua § |

4.



Question Number : 141 Question Id : 4771877786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Translation, Interpretation and Extrapolations are the specifications under
this objective in social studies.
Heare, BEEa AR s awies vuaa § 59 3eeT F HaAg I
arelr faferseare §
Options :
Syntheais

T2er9uT

Analysais

. TerersoT

Evaluation
3. %

Comprehension

A
4.9



Question Number : 142 Question Id : 4771877787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A class — IX student is actively involving in classsroom activities, respecting
the opinions of his friends, working with them and helping others. These

activities are reflecting the learning indicators of this academic standard
e - IX FT BT Faehel Aarareadr # FFIar @ omr oF gr g

it F fF=Rt &1 §FA FaT €, 395 "6 FH R0 § A gE A
AT FaT & | ¥ Afafafar 5w e Araes F ferE g F# ogendr
g

Options :

Appreciation and sensitivity

gorar 3T Gaceeferar

1. v
Conceptual understanding
HIURONT 3rgary
2. %
Reflection on contemporary issues and questioning
THREASF Hggl W gfafear AR g w3
3. %

Reading the given text and interpreting it

ar 13 fawT IFg FF oA AR IHH ATEAT FIAT




Question Number : 143 Question Id : 4771877788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following principle of curriculum development relates to importance of

Iinking the social studies content with daily life problems and experiences.

ST A AT F Aeafat@a ey safes wouaa $F vy a5g #
& e 1 FAEAET 3R 3EeEl § AST & FAged ¥ HaAd §

Options :
Principle of creativity

TATCHST FT AT
1. ®

Principle of flexibility

SiTedel T Aeua

Principle of conservation

3 EXETOT T ey

Principle of utility

39AETaT 1 e



Question Number : 144 Question Id : 4771877789 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
Among the following, identify the INCORRECT statement

f=oi@a # ¥ 7eid F2U HI 98919 HITav
Options :

In subject centric approach, lessons are loaded with informative content.

, T g sums # 95 ST FHEA F A g €

1.
In constructivist approach, teacher follows chalk, talk method
- TEATETeT 39ETH 7 e 9ie Y argsa 9eufa &1 96 ST g
In child-centric approach. knowledge construction takes place through
active participation
. TT-Ffed 3UNH & AT # AT gFg aefieir v gar &
3.

Programmed learning 1s the contribution of behavipuristic approach

FAGTRT HEH AgRaEK 39EH F ANER &

4, %
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Among the following, identify the learning experience placed at third from the
base of the cone in the order of increasing abstractness in Edgar Dale’s Cone of

Experiences

fefof@a # @, 59X 30 F Ial F oF & 3¥FAaAT F dod FA H AP
¥ IUR § fE B W W AT ATRTH 3HT H 9= Hia0

Options :

Motion picture

TA=T

Demonstrations

gaoie

Dramatic participation

s o AR AR

Contrived experiences
P

AT T



Question Number : 146 Question Id : 4771877791 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
Lithosphere, Atmosphere and Hydrosphere come under this branch of

Geography.
TId FE, IgAST AR F9 J5d qAS T 5H O F HaAT HTE

Options :
Phyto Geography

1. % o
Regional Geography
CEIDEE I

2. % &
Political Geography
AT et

3. %

Physical Geography

A spatrer

4. ¢



Question Number : 147 Question Id : 4771877792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

After observing the places like Shimla, Darjeeling and Nainital, etc., a class-X
student came to a conclusion that, when height of a place is increasing. the

temperature is decreasing. The learning approach that is reflected here is

R, grafeer X Saer e Tual F1 FATdFT Fa F 91§ TFH gHar
FETT F BT 50 ey o 9gaar § & 59 vy fr Fag # gfyr @ €
ar a9AT H FAT 2T & | TEr =7 HIOeH IUNETH F S0ET T4 8

Options :
Inductive
HARTAACHR

1. v

Deductive

feTHATEES

2. %

Concentric



Question Number : 148 Question Id : 4771877793 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A visit to water works, printing press, telephone exchange & railway station

majorly help in learning about these resources.

o o, ©ET 99, T tFEea AT o9 FEAF FT ST 5 HETHUAT
F IN # frma # Frfr ggms @ ar g

Options :
Geographical
EIENEED

1. ®
Economaic

2.

Historical

3. ®

Cultural

HEpIcH

4. %



Question Number : 149 Question Id : 4771877794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the characteristics of good evaluation tool among the following

faeT & ¥ 31=5 FAoarea graa Fr Fevarst fr gg== fiET

A} Practicability
SATIETIhdT

B) Subjectivity
[ELDEICTI)

C)  Objectivity

D) Reliability
Fereggataar

E) Validity
erdr

Chooze the correct one

TRl 397 &1 794 ffAT

Options :

A B.C.D&E

A.B.C& Donly
Faa A.B.C #TD

A.C.D& Eonly

Fad A.C.D AT E
3. ¢

B.C.D& E only

$deT B.C.D 3HRE



Question Number : 150 Question Id : 4771877795 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following List-A with List-B, regarding component teaching skills

assoclated with different stages of a lesson.

e ¥ Rt WuEt ¥ wEfg Peror shet § ged F gl F gE@a

#1 Fe= @B § fifeT
List-A
A

(Stage of lesson)

918 & e

A)  Planning stage 1}
ST H9
B)  Introductory stage 11)
QST T
C) Presentation stage 111 )
D)  Closing stage iv)
HHAMNA =0T
Choose the correct answer
Tar 39T AT

Options :

A—m:B—w-C—=1:D—1u

1. ¢
A=gw: B Q31—
2. %
A-m;B—1,C—iv;D—n
3. %

A—-mw:B—m:C—-1:D-1n

List-B

=B

(Component teaching skill)
faretor Flerer & wew

Demonstrating

e

Giving assignments

g F &

Selection of the audio-visual aid

HeT-TIT TIHAT FT ITIA

Introducing the lesson

9IS T 9=



